# **CenLANA ASC Meeting**

# Central Louisiana Area of Narcotics Anonymous Area Service Meeting

# Meeting convened at 12:10 pm on 7-15-2023

Dustin E. opened the meeting with a moment of silence followed by the Serenity Prayer. Dani P. read the 12 Traditions, and Frank A. read the 12 Concepts.

## **Administrative Service Committee**

Chairperson- Dusitin

Present

Vice Chair- Ashley CW.

Present

Treasurer- Trevis J.

Absent

Secretary- Daniella P.

Present

ASR- Robbie L

Absent

ASRA- VACANT

**VACANT** 

# **Subcommittees**

H & I- Trevis J...

**Absent** 

PR- Robbie L..

**Absent** 

Literature- Rocky S./Karen (V.Chair)

**Absent** 

Policy- Erica C.

Present

Activities - Doug F.

**Absent** 

# **Group Service Representatives**

Group		Voting	Host
Clean & Serene	Daniella	Yes	April
Jones Street	Frank A.	Yes	May
No Matter What	Robbie L.	No	June
Talking Heads	George Mc.	Yes	July
New Life Group	John P.	No	Aug.
Serenity Sisters	Ashley CW.	Yes	Sept.

**Secretary's Report**: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report.

Treasurer's Report: Read by Trevis (report attached)

Monthly Deposits:

Bank Balance: \$1,388.92

Previous Balance \$1,288.92

Checks Outstanding: \$100.00+

Other Expenses: \$-

Available Balance: \$1,388.92 to match bank balance

Available Balance: \$1,288.92 actual avail bal minus checks

Money Set Aside: \$860.00+

Working Balance: \$428.92

The treasurer read the report to ASC to submit

Motion was made to accept the Treasurer's report. The Treasurer's report was accepted by ASC.

**ASR Report:** Read by Dustin E.

## Subcommittee Reports:

H & I: Trevis abs w/ report read by Erica (report attached)

Public Relations: Robbie abs w/ report read by Dustin (report attached)

Literature: Rocky (Interim) abs w/ report read by Karen (report attached)

Policy: Erica read the report (report attached)

Activities: Doug abs w/ report read by Karen (report attached)

# **GSR Reports:**

Clean & Serene: Daniella. read the report (report attached)

Jones Street: Frank A. read the report (report attached)

No Matter What: Robbie Absent (no report)

Talking Heads: George Mc. read the report (report attached)

New Life: John P Absent (no report)

Serenity Sisters: Ashley CW Absent w/ report (report attached)

**Old Business:** (New or unresolved business from last ASC meeting).

Discussing previous CAR motion #20230403 to handle the motion of CAR at area. Now voting and it passed to settle at Area. Refer to motion 20230403. Motion did not pass (vote for motion). Motion made to go over the whole policy or changes only. Motion passed to go over changes only. Rescind motion 230308. Motion passed.

# **New Business:**

Cards came in for hotline.

# **Elections:**

# ASRA is open.

### **Announcements:**

Aug 5th potluck unity event. RD Alt & RD Alt elect, Activities & Fundraisers open at Region. Motion at region for Clean time requirement for RD alt & RD alt elect changed from 5 years to 3 years (RD alt.) and from 4.5 years to 2 years (RD alt elect). To be voted on by Areas in October at RSC. Aug 19th next Area hosted by New Life Group.

# Final Treasurer's Report:

# Presented and read by Ashley CW:

Previous Balance: \$1,288.92
Donations/Other: \$254.36+
Checks Written: \$25.00Available Balance: \$1518.28
Money Set Aside: \$860.00Working Balance: \$658.28

20% to RSC: \$

Working Balance: \$658.28 Available Balance: \$1518.28

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor

Meeting adjourned at 1:05 pm.

# **Central Area**

Treasurers Report		07/15/23
Monthly Deposit	\$119.00	06-29-23
Current Bank Balance	\$1,388.92	07-13-23
Previous Available Ending Balance	\$1,288.92 corrected	06-15-23
Outstanding Checks:		
Outstanding checks total	\$100.00+	
Avail Balance (to match bank)	\$1,388.92	07-13-23
Subtract outstanding checks	\$100.00-	
Actual Available Balance	\$1,288.92	07-13-23
Money Set Aside:		
Prudent Reserve	\$150.00-	
Activities	\$400.00-	
H&I	\$50.00-	
P.R.	\$30.00-	
Secretary	\$30.00-	
RSC Travel	\$200.00-	
Total Money Set Aside	\$860.00-	
Total Working Balance	\$428.92	07-13-23

The ending balance last month of \$1225.92 was incorrect due to an error in the total after the RSC donation of \$107.23. I incorrectly subtracted \$536.15 from \$107.23 and had an incorrect total of \$365.92. It should have been \$428.92. Therefore I had to adjust the ending balance from \$1225.92 to \$1288.92.



Account Detail

# **SMALL BUSINESS-8354**

\$1,388.92

# **Pending Transactions**

No Records Available

# **Posted Transactions**

Date	Description	Withdrawal/Deposit	Balance
07/03/2023	CHECK 1026	-\$200.00	\$1,388.92
07/03/2023	CHECK 1023	-\$30.00	\$1,588.92
06/29/2023	CHECK 1027	-\$107.23	\$1,618.92
06/29/2023	DEPOSIT	\$119.00	\$1,726.15
06/20/2023	CHECK 1024	-\$50.00	\$1,607.15
06/05/2023	CHECK 1022	-\$38.51	\$1,657.15
05/22/2023	CHECK 1021	-\$50.00	\$1,695.66
05/22/2023	DEPOSIT	\$138.00	\$1,745.66
04/17/2023	DEPOSIT	\$119.00	\$1,607.66

# **Account Summary**

Available Balance	\$1,388.92		
Current Balance	\$1,388.92		
As Of	07/12/2023		
Interest Paid YTD	\$0.00		
Interest Rate	0%		
Interest Accrued	\$0.00		
Last Deposit Amount	\$119.00		

A bank made in Louisiana. A bank made for Louisiana.

### ASR Report July 20232

Hello, My name is Robbie & I am an addict.

I want to apologize for not being able to be here for this report. I will cover things more in depth and work to answer any question you have at our next area meeting.

There was a lot that went on at this last Region meeting and I'm going to try and sum it up as best as I can.

To Start: The Region name has been officially changed to: LOUISIANA REGIONAL SERVICE COMMITTEE OF NARCOTICS ANONYMOUS

Regional Delegate: Lee P. will not be serving any more terms, This is an open position.

\*A Vision of NA Service was Revised, Changing the phrase his or her to their.

\*The following topics were approved for discussion:

Dealing with disruptive/predatory behavior

GEnder-neutral and inclusive language in NA literature

Reimagining and revitalizing service committees

DRT/MAT as it relates to NA

And much more...

# A & F: Activities & Fundraisers – Vacant – Open Discussion a)

Region had an open discussion about Activities and Fundraisers.

- (1) Unity Potluck 3623 Lee St., Alexandria, River City Clubhouse 10:00 am Saturday July 8th
- (2) Living Clean 4th Anniversary Celebration 326 Broad St., Lake Charles, 1:00pm Sunday July 2nd
- (3) NOACNA XIV (New Orleans Area Convention) Hilton New Orleans Riverside Hotel Thursday July 6th thru Sunday July9th Registration \$40
- (4) Agape Group 37th Anniversary 1217 Broad St., Lake Charles, Thursday July 13th thru Sunday July 16th
- (5) Open Mind Summer Social Fellowship Hall 583 Broadway St., New Orleans. Monday July 31st 6:30pm
- (6) Camp Recovery Lake Bistineau State Park Group Campground 1 November 3rd 5 th
- (7) Southern Zonal Forum Hilton Doubletree 1850 Old Fort Parkway, Murfreesboro, TN 37129, July 28th 30th
- (8) NLANA Luau 1321 Airline Dr. Bossier City July 8th
- (9) The Recovery Group Birthday Celebration 108 E. Lula St. Leesville 3pm Sunday July 16th
- (10) Gumbo Cook Off work group July 12th at 6pm on Zoom.

# H & I: Vacant

Roy M. invoked the 10th concept with a grievance on the Board.

### Nominations & Elecions:

Pixie S. was nominated for the Board; Voted Against

RSC Nomination: (Resumes attached to end of Minutes) Voting will be at RSC in October.

- 1. Chairperson Nikki B.
- 2. Vice Chairperson Amy G.
- 3. Treasurer Don B.
- 4. Secretary Dani K.
- 5. Regional Delegate Bob St.
- 6. Regional Delegate Alt. Open
- 7. Regional Delegate Alt. Elect Open
- 8. Activities & Fundraisers Open
- 9. Hospitals & Institutions Stephen L.
- 10. Fellowship Development Open
- 11. Policy Open

### **Business:**

Motion on CAR votes by ASRs did not pass

### **New Business:**

The Board will write an Apology letter to Roy.

There were several motions made about updating the guidelines. If you would like to know more it will be in the RSC Minutes.

5. Motion #2023-06-05: Maker – Dani K. (North Area), 2nd By Stephan J. (Lake Area) Motion: Change clean time requirements for RD Alt. and RD Alt. Elect. • Pg 12 #3c RD Alt. from "five years" to "Three years" • Pg 12 #4c RD Alt Elect from "four and half years" to "Two years." Intent: To attract more members to service and RD Alt and Alt Elects clean time requirement will meet RD requirements by the end of rotation. Motion Sent Back to Areas to be voted on at RSC in October

Pixie S. has started to invoke the 10th Concept about her Nomination to the Board. More will be discussed on this issue.

I am turning in receipts for the Hotel and Gas. Hotel: \$132.92 & Gas: \$69.00 = \$201.92 I was able to split the cost with Doug. He was able to reimburse our area. \$96.36

Thanks for letting me serve, Robbie L

# **H&I Area Report**

H&I has still been consistently continuing monthly meetings at the Red River Treatment Center on the 1st Tuesday from 6:30-7:30pm with the men and on the 3<sup>rd</sup> Tuesday of the month with the women. We continue H&I meetings at the Edgefield Treatment Center on the 2<sup>rd</sup> Friday of the month from 6:30-7:30pm. We are also meeting at the Steps Recovery Solutions treatment facility on the last Friday of the month from 6-7pm. I will be orientating new members who are interested in joining H&I.

I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Chair

# PR Report July 2023

Hello Family, my name is Robbie & i'm an addict.

I have been doing my best to keep the meetings up to date on the website and keeping the meeting list in all locations full.

I will also be updating the website to show our up-and-coming events so that the treatment centers and others will be able to view.

I have been putting out the hotline cards at: Drug Court, the Clubhouses, treatment centers, & several Smoke & Vape shops.

I was contacted by the guy doing the DC3 rehabilitation and re-entry program about services that NA can offer. I will be scheduling a PR presentation to go speak with the board and see if H&I will be needed to come into the facility. As well as if there are any other needs that we may be able to provide like Books. I will keep you updated on my progress.

At this time I have not heard any new news on the PSAs being played for KALB. I am looking for any information or contacts that may be able to help me get them plated on other channels. If you know of any please get with me so we can swap information.

If you have any need of Public Relations please reach out to me so we can work together in carrying the message.

Thanks for letting me serve.

Robbie L PR Chair

# Literature Area Report

Literature sales were low this month. I only sold \$45 worth of books. I currently have \$64 cash on hand and I plan on spending that to replenish my basic text and it works how and why inventory. Thanks for allowing me to serve.

Rocky S. Literature Chair.

# Main Monthly Inv. Report

Date: 07/15/2023

ltem	Quantity	Cost		Cost Total		Sale Price		Sales Total	
Basic Text	1	\$	13.60	\$	13.60	\$	16.00	\$	16.00
Spiritual Principle of the Day	2	\$	13.00	\$	26.00	\$	15.00	\$	30.00
Guiding Principles	1	\$	13.05	\$	13.05	\$	15.00	\$	15.00
It Works How & Why	2	\$	10.70	\$	21.40	\$	13.00	\$	26.00
Living Clean	1	\$	11.60	\$	11.60	\$	14.00	\$	14.00
Just for Today Meditaton	2	49	9.55	\$	19.10	\$	10.00	\$	20.00
Step Working Guide	4	\$	10.10	\$	40.40	\$	12.00	\$	48.00
NA White Book	55	\$	0.68	\$	37.40	\$	1.00	\$	55.00
Totals:				\$	182.55			\$	224.00
White	13	\$	0.56	\$	7.28	\$	0.75	\$	9.75
Tags									
White				-		_		_	
30Day	19	\$	0.56	\$	10.64	\$	0.75	\$	14.25
60Day	21	\$	0.56	\$	11.76	\$	0.75	\$	15.75
90Day	65	\$	0,56	\$	36.40	\$	0.75	\$	48.75
6Months	22	\$	0.56	\$	12.32	\$	0.75	\$	16.50
9Months	20	\$	0.56	\$	11.20	\$	0.75	\$	15.00
1Year	52	\$	0.56	\$	29.12	\$	0.75	\$	39.00
18Months	14	\$	0.56	\$	7.84	\$	0.75	\$	10.50
2+ Years B&G	5	\$	0.56	\$	2.80	\$	0.75	\$	3.75
Chips									

12 \$

3.80 \$

\$

\$

45.60 \$

178.96

361.51

6.00 \$

\$

72.00

251.25

475.25

	ı	.F	). F	uı	ch	as	e
--	---	----	------	----	----	----	---

Sub Totals:

Medallion

Totals:

Cash	
Money from Area	
Literature Sold	\$ 45.00
Previous Orders	
Current Orders	
Cash Turning In	 
Cash on Hand	\$ 64.00

	Ø-17-83
Hello Hy Name is Enical. I am newised & gone through & revised for allowing me to serve.	an addict Policy has been
Datie - L	for Time 2029 Though Ilan
1 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1. 1011 d and add. Them 400
ton allowing me to serve.	
	EnicaC.
	¥ ,

Activities Report 7-15-27 Dovar-Chair

My NAME is Doug 2Nd I'm

2N addict. We have & another

Pot luck Junch 2+ 12:00 with

Pot luck Junch 2+ 12:00 with

two speakers: Rocky & DANIelly

BAMES & fellow ship a hope folly

BAMES & fellow ship a hope folly

Bames & food. Bring your RAVORTE

26t of food. Bring your RAVORTE

5ile dish. We are checking

for a place to have a hallower

Dance.

More will be revealed

Clean and Serene

Area Report

7/15/23

Hello Family,

Clean and Serene is doing well. We are still holding meetings every Sunday night at 7PM at River City Clubhouse. We average 15-20 attendees per meeting. We have 2 new members and no upcoming birthdays. We have an Area donation of \$75.00 at this time.

Daniella o

Thank you for allowing me to serve,

Dani P

**GSR** 

Hen family,
Jones Street is doing well.
Hey family, Jones Street is doing well. We still have meetings every Wednesday at Tom at 500 Edge Wood Drive. This month we had 21
500 Edge Wood Drive. This month we had 21
members in attendance at our meetings.
We have an AREA donation of \$10.
Thank You for allowing me to be of service.
GSR
Jones Street

Talking Heads July 15, 2023 Hextamily, Talking Heads is doing good We have meetings on Tuesdays and Frid at 7PM to 8PM. The Tue Eday Nigh Basic Text Study is doing good with a good turnout, Please remember and new people about it to come their experience, strenght, and hope have 2 Birthdays, coming up this no



# Serenity Sisters Area Report 7/15/23



Hello family,

Serenity Sister's is doing well. We still hold meetings every Monday night at 7pm here at River City Clubhouse. We average 7 attendees per meeting. We have 1 new member. We have no birthday's coming up and we have an Area donation of \$40.00.

Thank you for allowing me to serve,

ashly Cl. GSR



